3 (Sem-1) STS

2016

STATISTICS
( General ) -

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as
directed : 1x7=7

T fRan 2rcaRy ot Tes fm -

(a) Mailed questionnaire method cannot be
adopted if the respondents are ___-

(Fill in the blank)

S RS e AN qRFA IR
RN M Tewer __ =W

Sk Eakal)

(b) The appropriate relation between mean,
median and mode of a moderately
skewed distribution is ___.

(Fill in the blank)
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(2)

T R REm 363 GBR 518, JuW =%
IR IS AT BolgS T (R i

(19 312 o=t 3:A)

(c) Write down the value of A" (ax™ + bx" 1)

A (ax" +bx"™ )3 AW o o

(d) State whether the following statement
is true or not :

“For a third central moment, no
Sheppard’s correction is necessary.”

Sorq S0l WF T ¢ TRy SrEd 4

‘o (TR TR FRCA BAIET TRCTA
m m |”

(e) At which point the two cumulative
frequency curves Aintersect each other?

R R 70 M IR T (IR IO A ?

() 10 is the mean of a set of 7 observations
and 5 is the mean of a set of

3 observations. The mean of the
combined set is

i 15

(@i} 10

(i) 8-S

(iv) 75  (Choose the correct answer)
A7/18 { Continued )

(3)

751 TFR NG 9B FE 10 TF 3B AW NG
IBR 9T 5. TGS CNo T (X

(i) 15

(i) 10

(iii) 85

(iv) 75 L (o1 Seweh AR Sfred)

(g0 State the fundamental theorem of
finite difference.

Wwwm%ﬁmﬁm

2. Answer the following questions : 2x4=8
SIS PIIRT Baq o

(a) Define interpolation.

ST e a1

(b) Discuss any two problems involved
in the construction of price index
number.

T IS LTI TS WS R A T
TR R oo

(c) Write down the requisite qualities of
an ideal measure of central tendency.
o1 o @FER 2T TR IR BN
o
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(4)

(d) How do you determine the mode of .
a grouped frequency distribution
graphically?
cft Reofe IRQARE IGA PR ITE
RTIMR (1% ORI fRe 312

Answer any three of the following
questions : , 5%3=15
Tere fam R e fofebt es el o -

(a) What do you mean by statistical data?
Discuss any two methods of collection
of primary data.

AR o oRa B @2 MFFE oY
TR R eI 751 ArwtS g F

(b)

Express the first four central moments
in terms of raw moments.

oo BIRG @ gl I (TR YA AT
R Fm

What is frequency distribution? Explain
the general rules for construction of
frequency distribution.

AR Reore W R? IRARe Ko
TS FIR YR FRACIE 3991 30 1

( Continued )

(c
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Answer any three of the following
questions : ' 10x3
eore T R e fofbt 2r Beq o

(S)

(d)

Define skewness and kurtosis. Discuss
the utility of skewness in statistics.

ST W TP IFoR e fwm R
Rume SR Sommfer Rem wcam
40

Find the third differences with arguments -
2, 4, 9, 10 of the function f(x) = x3 -2x.

o Refte S IW e, afi el
flg=x3-2xT® xI AW 2, 4, 9, 10.

(a) What do you mean by dispersion? What
' are different measures of dispersion?
Which one is considered to be the best
and why? 2+6+2=10

R PRA B @ wRE RET MEE
R & 7 wbiEets TegB Mowh & wre R 2

(b) (i) What is an index number? Explain
the role of weights in the
construction of price index number.

2+3=5

Wﬂmﬁ?wwmw
oo Raca foran 1
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(@)
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(i)

()

(i)

)

(6)

What is a cost of living index (CLI)
number? Discuss its uses. . 5

R T OPIE WA 2 "WR
T R i =10

State and prove a suitable
interpolation formula, given that
the arguments are not equally
spaced. 1+4=5

Fog e YRR RS T I
i AR qb1 T S @ R
AT F4 |

Estimate f(3) and f(9) from the
following data by interpolation : 5

wore finl SURMT /1 SEHTR TTES
FR) F f(9) SR FI:

x : 2 4 6 8 10
fe) : 4 13 25 43 64

general
and then

Write down the

quadrature formula

obtain the Simpson’s 3rd rule. 5

mwmmm«rmmw
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(e)

(@)
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(i

(ii)

(i)
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.T’S h xR IS SBIA |

(7))

Use trapezoidal formula and
Simpson’s 3th formula to calculate
the mtegral
dx
jo—z . 5
1+x

o2y By
1+x2

What is Fisher’s ideal index number
formula? Why is it called ideal? 2+2=4

o w2 T R
S QT T2
Prove that

ex = & e'x _ng—
where h is the interval of
differences. . 3
WEIF A

ex= A_2. ex._E_g—x—-
E AZe”

Find tﬁe coefficient of variation
from the following data : 3

oo fian o o=t 53 @eE Rl 3
58, 69, 60, 54, 65, 57, 49, 79
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